Year 6 Maths Activity Mat

®

a Y a N a a N
Section 1 Section 2 Section 3 Section 4
In the number 3 927 381, A stationery store has 2543 pencils in Calculate: Use <, =, or > to compare these
what is the value of the two stock. The shop orders a further 1 368 fractions:
3 digits? pencils, and then sells 928 pencils in
a month. How many pencils does that 719911 A 3
shop have left? 4 2
A 4
6 3
L _J
13 39
[ ] 2 6
Section 5
Calculate: \ J U L )
002x7= . .
Section 7 Section 8
006 x5 = Draw an isosceles triangle. Reflect this shape about the x axis.
y
008 x 6=
Section 6
5 miles = 8 km X
How many kilometres in
205 miles?
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Year 6 Maths Activity Mat: 3

Answers
a 3 a N a a N
Section 1 Section 2 Section 3 Section 4
In the number 3 927 381, A stationery store has 2543 pencils in Calculate: Use <, =, or > to compare these
what is the value of the two stock. The shop orders a further 1 368 fractions:
3 digits? pencils, and then sells 928 pencils in 2183
a month. How many pencils does that 719911 A > 3
shop have left? 8 5 4 2
1141
7 4
3 000 000, 300 1308 < < =
\ _ 5 1
5 1 13 = 39
Section 5 2983 pencils 0 2 6
Calculate: s J \ L )
002x7= 0.14 o .
Section 7 Section 8
006 x5 = 0.3 Draw an isosceles triangle. Reflect this shape about the x axis.
y
008 x 6 = 0.48
Section 6
5 miles = 8 km X
How many kilometres in
205 miles?
328km
@ Page 2 of 2 twinkl.co.uk



